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For Exercises 1-9, choose the correct letter.

1. Which of the following can be represented by this graph?

——+—+ }
5 6 7 8 9 101112

A
A 5<b<l1l B.11=b=5 G [8-b|=8 D.|b—8 =3

. Which inequality can be represented by this graph?

o e
2 3 4 10 11 12

D
9

e
A9<p=4 B.h=%0rb >4 Cbhb=4o0rb>9 D.b<4orb>9

. If7x + 3 = 24, find the vaiue of 5 — 4x.
A.—23 B. -7 C1

. Which of the following sentences is represented by this graph?

-7 —
A. tis greater than —5 or less than 1. B. tis between —5 and 1.
C. tis greater than —5 and less than 1. D. tis less than or equal to 1 and greater than —5.

. In which quadrant would the point (—2, 4) be located?
A.l ' B. II C. I

. Which matrix is the sum [ z

A [:9/ ﬂ '- B'[ 7 -4 < E :ﬂ

. Which of the following equations represents the formula for the
perimeter of a rectangle, P = 2¢ + 2w, solved for £7

At=P-% B.¢=£ % ce=L-w D. £ =2(P — w)

. The formula C = %(F — 32) is used to convert temperatures from
Fahrenheit to Celsius. What is 55°C in degrees F?

A, 131°F . B.. 12.7°F | C. 156.6°F D. 623°F
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. Solve% = %_
A 90 B. 625 C. 745
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Compare the quantities in Column A and Column B. Choose the best answer.

10.
1.
12.
13.
14.

15.

16.

17.

A. The quantity in Column A is greater.
B. The quantity is Column B is greater.
C. The two guantities are equal.

D. The relationship cannot be determined on the basis of the information supplied.

Column A Column B
|x—3|forx=-7 - |x—7|forx= -3
5n + 6 2n + 15

Evaluate b% — 4ac for a = —-1,b = —5,andc = 2.
Simplify 4 — 3(22 — 5).

Javier is on a diet. He is supposed to eat at least 1500 but not more
than 1800 calories per day. Before his last meal of the day, he had
consumed 1150 calories. According to Javier’s diet plan, what number
of calories may he consume at his last meal of the day?

The Bagel Factory’s sales of plain bagels are given.

Day Mon. | Tues. | Wed. | Thurs. | Fri. Sat,

Sun.

Number of dozen 7 6 8 9 18 12

10

. Which measure of central tendency best represents the data? Why?

Translate the sentence into an equation, and then solve.

Four less than five times a number is 21.

Open-Ended Write an absolute value inequéjjty that has no solution.

Solve each equation.

18.
21.
24,
25.
26.

n+d=6 19. 3t + 3 = —12
p = -8 22, [4a—2| =10
Solve for gif |9 — 3g| = 12. '

Solve and graph 15¢ — 4 = 12¢ + 5 on the number line.

Writing Explain why the following matrix addition is impossible.

.2 4

-1 2|+ B ':; 3]
3 —6
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20. 2(3d + 1) = 20
23, 5k + 6 = S(k + 1)
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